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k| Behl %P FR Egk e E et
1 NG hEE & 4 102***3 2105k 10,450
2 AFLF5R hiE & 3 103***6 B O%h 10,450
3 AP it & 2 104***8 =50% 10,450
4 AFLFR RN 2 104***8 2O 10,450
5 NG FEAN % 3 103***8 O 10,450
6 AP FEAN % 2 104***Q FrORE 10,450
7 AFLFR FEAN % 2 104***7 22035e 10,450
8 NG B H 3 103***9 BEOE 10,450
9 AP B H 2 104***7 2O 10,450
10 | TR IT8&% 4 102***8 iOP 10,000
11 | TR IT8&% 3 103***2 RO 10,000
12 | TR TE% 3 103***4 Zlolg 9,592
13 | TR IT8&% 3 103***Q BROR 5,000
14 | TER TE% 2 104***3 =018 5,000
15 | TR TE% 2 104***) RO 10,000
16 | TR ITE8& 1 105***1 BROZE 5,000
17 | TER {EM % 4 102***Q EOS 10,000
18 | TEfR {E¥ % 3 103***6 O 10,000
19 | TER {E¥ % 2 104***) FOEE 5,670
20 | TEBx {EM % 2 104***7 MO 10,000
21 | TEfR {E¥ % 2 104***6 OB 3,131
22 | TEx {E¥ % 1 105***9 E O 5,000
23 | TEpx {E¥ % 1 105***5 5RO 10,000
24 | TEBx {E#1 18 2 104***3 =018 10,000
25 | TERx % 3 102***5 50 14,100
26 | TEPx AL e 4 102%**7 B0 10,000
27 | TEpx AR 3 103***3 £0F 10,000
28 | TE[R M % 3 103***Q 0% 11,707
29 | TEPx % 2 104***1 B0 10,000
30 | T2k i 1 105***4 50 12,500
31 | EFERR 1% 5 101***5 TOH 11,800
332 | BBk BIA 4 102***] 20ff 11,800
33 | BB BT A 4 102***3 o) 11,030
34 | EFHERR 1% 3 103***7 O, 11,025
35 | EFHERR 1% 2 104***g FROz8 11,800
36 | EHER| BIA 1 105***Q 20% 11,030
37 | BBk | BEZH 4 102***9 %50O%h 8,135
38 | BB | BEZ 4 102***2 EOE 8,135
39 | & B | BEZ 4 102***3 MO2& 8,135
40 | BBk BEEZR 3 103***1 =08 8,135
41 | EFHER N 3 103***g BOZ 8,135
42 | EFHER N 2 104***9 E{e) ! 8,000
43 | BBk EEF 4 102***Q EBOAL 5,000
44 | EFHER EET 2 104***Q EOH 5,000
45 | EHER| BEE% 4 102%**1 HO% 5,000
46 | EFHER EE % 4 102***g =01% 4,150
47 | EHER| BEE% 4 102***8 $#BOR 5,000
48 | EFNER EE % 4 102***Q 2O 4,150
49 | EHER| BEE% 4 102***] O 5,000
50 | EREPR| BE A 2 104***] 208 5,000
51 | EFHERR EE % 1 105***3 +O# 5,000
52 | B B | BE A 1 105***7 BROZE 5,000
53 | BB | BE A 1 105***5 f50[E 5,000
54 | EiEEARR FEEE 3 103***9 2015 2,466
55 | EEEfR| HEH 3 103***1 FOIE 7,500 |Er10481E A
56 | EEEARR FEEE 2 104***2 ZEOfE 7,500
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L e 050 | EO% 9,492
0 (EmBEE| BB 1 | 105%* | B0k 9,49
BESl| ®aw | 2 | 1041 | 2 492
ST e 3 103***7 =0 ’
THE LS TEEEELC R o RET
TEEEE T 3 | BO%& | 10,000
ST E D 2 104***9 EQS ’
66 |@milz| BikE | 1 | 103 EOH | 10000
67 | =EER | MBRETH | 2 | 104*** ey
e Terer pemr | oo o | 100w
69 |EHWBG | MERELN | 2 | 10447 il o
70 |ER85| AEWIN| 2 | 10473 T
P I I O i Lot
7 |BEEE| Brm | 4 | 100w e ma
3 [BEEE| Brm | 4 | 10077 MO | 740
74 | EEBE] B 4 | 102***3 S 2,899
5 |EEE| Bt | 4 | 100 MOIE | 7,900
e TEmEE & 1 | =oF 4,000
| B+ 4 | 102+ )
L e 8 | BOA | 8400
ERBL| B 4 | 102**1 | 30 ’
78 | EEERE| BT 4 | 102%**6 S0 2.1
79 [BBEG| @i | 4 | 10073 o
80 | EBEE| B1IR 4 | 102%**9 or s
8l |EEBE| B1I 4 | 10271 o 2350
YR EEESS 4 | 102%** o Lo
53 (EEEE B 4 | ZFOR 5,550
ol B117 4 102%** 2 :
S e 6 | 2I0® | 4700
=170 B4t 4 102%** X 35 !
& EnEE] B 2 | HIO# 4,100
==l B4 3 103%** m :
e 1 | ROk 4,900
Bir| B4 3 103*** TOS ’
o EEEE B 6 | #O% 4,300
EEAR| B4 3 | 1033 [ & )
88 | EEERR| B4H 3 | 103*** o 2:200
e 5 | RO 6,600
S5 B4t 3 103%** .
o TeEEE = 0 | =O% 2,800
Bi| EB1h 3 | 103% 77 ’
o eEEREl = 7 | FOZ 2,100
B B4 2 104***9 | # ’
%2 |EWEk| Bim | 2 | 1041 MO | 4500
S lemen 5o |5 ot [ 200 | o700
TR 4 | FOE 8,700
S5 B4t 4 1047 :
L 4 | fOE | 3500
S5t E4-1f 2 1047 .
o TEmEE = 8 | 208 4,400
Bi| EB1h 2 | 1040 5 ’
o TemEE & 6 | BOX 8,000
Bir+ 7T B4t 2 104***Q 0= :
08 |ZmBh| Bryr | 2 | l04vp | = s 4,400
99 |SHEER| B+ 2 | 104*** e .09
Toares Ll L | mOm | 7,100
Bi| B+ 1 | 1055 = ’
TIRE L L 4 | =08 4,100
EE: TN S5 N 5,400
28] B [ 1 | 1059 | BON 8.200
=i 786,585




